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Part – III 

POLITICAL SCIENCE 
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General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 
 Give equations wherever necessary. 
 Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

 
    15   ‘  ’  .  

 ‘  ’     
 . 

      . 

    . 

  , , ,    
. 

   . 

    . 

      
    . 
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 Answer all questions from questions 1 to 15. (Total Scores 28) 

1. Identify from the given below the first Summit Conference of Non-Aligned Movement. 

 (a) Yalta Conference 

 (b) Belgrade Conference 

 (c) Bandung Conference 

 (d) Bangkok Conference  (Score : 1) 

 

2. WTO is serving as the successor to which of the following organisation ? 

 (a) WHO 

 (b) ILO 

 (c) IMF 

 (d) GATT    (Score : 1) 

 

3. Identify the economist who proposed an alternative blue print that put greater emphasis 

on rural industrialisation. 

 (a) J.C. Kumarappa 

 (b) P.C. Mahalanobis 

 (c) K.N. Raj 

 (d) M.S. Swaminathan   (Score : 1) 

 

4. Who is the President of Soviet Union at the time of its disintegration ?  (Score : 1) 
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 1  15    . (  28) 

1.       

  . 

 (a)   

 (b)   

 (c)   

 (d)    ( : 1) 

 

2.       

    (WTO)   ? 

 (a)   

 (b)    

 (c)    

 (d)       ( : 1) 

 

3.        

   . 

 (a) . .  

 (b) . .  

 (c) . .   

 (d) . .   ( : 1) 

 

4.        ?  

       ( : 1) 
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5. Identify the wrong from the given statements : 

 (a) Chipko Movement was an environmental movement to prevent cutting down of 

trees. 

 (b) Dalit Panthers was formed in Maharashtra in 1972. 

 (c) The activity of the Mahendra Singh Tikait is related with BKU. 

 (d) The organisation MKSS is related with Narmada Bachao Aandolan.  (Score : 1) 

 

6. Expand the following abbreviations : 

 (a) NDA 

 (b) UPA     (Scores : 2) 

 

Fill in the blanks : 

7. (a) Thashkant agreement was signed between Lal Bahadur Shastri and ________. 

 (b) The exponents of the slogan Garibi Hatao was __________. (Scores : 2) 

 

8. Identify the name of the leader and party, led the popular struggle against West 

Pakistani domination in East Pakistan.  (Scores : 2) 

 

9. Co-operation is an important aspects of traditional security. Point out any two forms of 

co-operation.    (Scores : 2) 

 

10. Write a note on ‘bandwagon strategy’. (Scores : 2) 
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5.       : 

 (a)      

  . 

 (b) 1972      . 

 (c)       

. 

 (d)         

 .   ( : 1) 

 

6.     : 

 (a) NDA 

 (b) UPA     ( : 2) 

 

   : 

7. (a)         ________ . 

 (b)       __________.  

       ( : 2) 

 

8.      

       

 .    ( : 2) 

 

9.        . 

    . ( : 2)  

 

10. ‘ ’ (  )   . 

       ( : 2) 
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11. Write any two political consequences of Globalization. (Scores : 2) 

 

12. List out any two factors that contributed to the dominance of Congress Party in the first 

three General election in India.  (Scores : 2) 

 

13. The democracy in Pakistan is not stable like India. Identify the factors that contributed 

to Pakistan’s failure in building a stable democracy.   (Scores : 3) 

 

14. Mandal Commission Report was a milestone in the development of Other Backward 

Class in India. 

 Evaluate the impact of Mandal Commission Report in strengthening the politics of 

backward class in India.    (Scores : 3) 

 

15. Match the column A with B and C :     (Scores : 3) 

A B C 

Operation Desert 

Storm 

Missile attack in 

Sudan 

Global war on 

Terror 

Operation Enduring 

freedom 

UN military 

operation in Iraq in 

1991. 

First Gulf war 

Operation infinite 

reach 

US response to 

attack of 9/11. 

US response to the 

attack of US 

embassies 
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11.      . 

       ( : 2) 

 

12.        
     . 

       ( : 2) 

 

13.    .   
     

.     ( : 3) 

 

14.        
   .    
     . 

       ( : 3) 

 

15. A   B- C-  : ( : 3) 

A B C 

  
 

 
 

 
 

 
  

1991-  
.  
 

   

 
  

9/11 -
 
 
 

  

-
  
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 Write any four from the questions 16 to 20. Each question carries 4 scores. (4  4 = 16) 

16. Bring out the major differences in the objectives of First and Second five year plans. 

        

 

17. Prepare a short note on the concept of ‘Non-Congressism’ and ‘Defection’.  

 

18. Resistance to globalization in India has come from different sources. Evaluate the 

nature and style of resistance of social groups and political parties in India against 

globalization.     

 

19. Find out any two military alliance formed during cold war. Why did the super powers 

make alliance with smaller countries ?    

 

20. ‘A transition from communism to capitalism was not an easy one.’ In the light of this 

statement examine the meaning and consequence of ‘shock therapy’.  

 

 Write any four from the questions 21 to 26. Each question carries 5 scores. (4  5 = 20) 

21. The Non-Traditional conceptions of security focus on the changing nature of threats to 

security. Point out any five new source of threats and give a brief explanation of each. 

         

 

22. Nehru played a crucial role in framing India’s foreign policy. Identify the major 

objectives of India’s foreign policy and explain the role of Nehru in shaping it.  

 

23. What was the reason for emergence of Anti Arrack movement ? How did it contributed 

in increasing overall social awareness about the issues that affects women ?   
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 16  20     4  

.   4  .  (4  4 = 16) 

16.         
  .   

 

17. ‘’, ‘’      
.     

 

18.      
   .   
       
  .    

 

19.          
.     
 ?    

 

20. ‘      
.’ 

    ‘ ’  
 .    

 

 21  26     4  

.   5  . (4  5 = 20) 

21.       
  .  5   
      .   

 

22.      . 
      
      .  

 

23.       ?  
      
   ?     
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24. ‘The process of partition was very difficult to implement and its consequence was 

painful.’ Based on this statement explain the process of partition and its consequences. 

        

 

25. ‘Reforms and improvement are fundamental to any organisation to serve the needs of 

changing environment.’ In the light of the above statement examine the need for the 

reforms in UN structure and processes.    

 

26. There is difference in the approach to environmental issues between the countries of 

North and South. Under this circumstances, examine the meaning and the possibility of 

the implementation of the principle ‘Common but differentiated responsibility’.  

 

 Write any two from the questions 27 to 29. Each question carries 8 scores. (2  8 = 16)  

27. ‘The Chinese economy has undergone several transformations.’ Identify the 

developmental strategy adopted by China and explain how it helped to become an 

alternative centre of power.    

 

28. Issues of regional aspirations are varried and complex in the politics of North East. 

Identify and explain the various issues of North East region.  

 

29. Critically evaluate the various reasons for the declaration of National Emergency of 

1975. 

 Hints : – Economic context 

  – Gujarat and Bihar movement 

  – Conflict with Judiciary 

  – Allahabad High Court verdict and protest from opposition.   

_____________ 
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24. ‘       
 .’   -
      
 .    

 
25. ‘     

   .’ 
       

    
. 

 

26.    -  
.   ‘  ’  
     
. 

 
 27  29     2  

.   8  . (2  8 = 16)  

27. ‘    .’  
       
      . 

 
28.       

  .     
  . 

 
29. 1975      

 . 
  : 

 –   
 –    

 –   

 –     . 

  

_____________ 
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